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PHILOSOPHY
Course ID: 40613 Course Code: AH/PH1/403/C-10
Course Title: Inductive Logic (Western)
Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as for as practicable.
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1. Answer any five of the following questions: 2x5=10
fsfefee @ o Mbfo dvas Tex mie:

a) What are the formal grounds of an inductive arguments?

a3 aErR Ier aRsTs fSfeaf F [

b) What are the seven stages of scientific investigation?
(SIS APAHICTI A6 BF I FI?

¢) What is the product theorem of the probability calculus?
FEIRrS] fetes wozee Sy@fo 12

d) What is the doctrine of the plurality of causes?
LI FICP =2

e) What do you mean by rules of elimination?
AR 7@ IS i @RA2

f) What is the probability of getting two tails from two successive tosses of a fair coin?

@35 fATa WIS 2197 @9 FOwet S0 172 R “0F T8R! $9?
g) Tl w1qmma Fio

What is crucial experiment?
h) &5 FICE A7
What is hypothesis?

2. Answer any four of the following questions: 5x4=20
EfIi® 7 Py Brafs evs Tes whe:

a) Distinguish between scientific and unscientific explanation.
(T WY ¢ WICATT T N4 AL T |

b) Discuss different meanings of cause according to Mill.
[RIGERSEECEREIERICRACI I LD

¢) Explain with suitable example Mill’s formulation of the method of concomitant
variation.
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d) Distinguish between a sufficient and necessary condition with suitable examples
TS RIS MR “I1e 1 g2 SRMFIE =S Weey AL el |

e) What an argument by analogy.Explain with the help of an example. 2+3
AV FEce 6 @RIR? 935 SriRaes A=) I T |

f) Explain the notion of crucial experiment.
DOTS AJrHCeR QNG it e

3. Answer any one of the following questions: 10x1=10
s 7 v G5 2vss T me:

a) Explain the criteria for evaluating scientific hypotheses.
(RN ST TEHRACE NS G 51|
b) Discuss briefly Mill’s Method of Difference by stating an example.

TrRePTR N Aot afoq [l e |
¢) Calculate the probability:
FgIre] e 5+5
1) A dentist has an office with five entrances which are equallyaccessible. Three

patients arrive at his office at the same time. What is probability that they all enter
into the office by the door No-1?
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1) What is the probability of getting at least one spade in three successive draws from
a deck of cards if the card drawn is replaced before the next draw?
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